
 

 

DPP 
Daily Practice 

Problem 

Physics 

Topic : Mathematical Tools  
DPP NO. 5  

Time : 30 min. 
Total Marks : 56 Max. 

 Type of Questions 
Single choice Objective ('–1' negative marking) Q. 1 to Q. 11 
Subjective Questions ('–1' negative marking) Q. 12 to Q. 14 

 

Q 1) lf 𝒇(𝒙) =  
𝒙

(𝒙𝟐+𝒂𝟐)𝟑/𝟐  , where a is a constant. The value of 𝒇(
𝒂

√𝟐
) is  

 A) 𝟐𝟑/𝟐

𝟑𝒂𝟐   B) 𝟐𝒂𝟐

𝟑√𝟑
   

 C) 𝟐

𝟑√𝟑𝒂𝟐  D) 𝟑√𝟑

𝟐
𝒂𝟐    

Q 2) 𝒍𝒇 𝒇(𝒙)  =  (
𝒔𝒊𝒏 𝒙

𝟏−𝒄𝒐𝒔𝟐𝒙
) (𝒄𝒐𝒔𝒆𝒄 𝒙 + 𝒄𝒐𝒕 𝒙)(𝒄𝒐𝒔𝒆𝒄 𝒙 − 𝒄𝒐𝒕 𝒙), Then find 𝒇(𝝅/𝟐)  

 A) 𝟏  B) −𝟏    
 C) −𝟐  D) 𝑵𝒐𝒏𝒆 𝒐𝒇 𝒕𝒉𝒆𝒔𝒆   
Q 3) lf 𝒇(𝒙)  =  𝒙𝟑;  𝒈(𝒚)  =  𝒚 −  𝟏 ;  𝒉(𝒛)  = 𝒛 +  𝟏 

The value of 𝒇(𝒈(𝒉(𝒙))) is : 

 

 A)  𝒙𝟑 + 𝟏  B)  𝒙𝟑 − 𝟏   
 C) 𝒙 + 𝟏  D)  𝒙𝟑   
Q 4) 𝒊𝒇 𝒇(𝒙) =  𝒙𝟐 − 𝟏  and 𝒈(𝒙) =

𝟏

𝒙
+ 𝟏 ; the value of  𝒇 (

𝟏

𝒈(𝒙)
) is  

 A) (𝒙+𝟏)𝟐

𝟐𝒙+𝟏
  B) −𝟐𝒙−𝟏

(𝒙+𝟏)𝟐   

 C) 𝟏+𝟐𝒙

(𝒙+𝟏)𝟐  D) (𝒙+𝟏)𝟐

𝟏−𝟐𝒙
   

Q 5) If 𝒚 = 𝒙𝟑 + 𝟐𝒙𝟐 + 𝟕𝐱 + 𝟖 𝐭𝐡𝐞𝐧 
𝒅𝒚

𝒅𝒙
𝐰𝐢𝐥𝐥 𝐛𝐞 −   

 A) 𝟑𝒙𝟐 + 𝟐𝐱 + 𝟏𝟓  B) 𝟑𝒙𝟐 + 𝟒𝐱 + 𝟕   
 C) 𝒙𝟑 + 𝟐𝒙𝟐 + 𝟏𝟓   D) 𝒙𝟑 + 𝟒𝐱 + 𝟕     
Q 6) If 𝒚 =

𝟏

𝒙𝟒  then,  
𝒅𝒚

𝒅𝒙
 will be  

 A) 𝟒

𝒙𝟑  B) 𝟒𝒙    

 C) −
𝟒

𝒙𝟓  D) 𝟒

𝒙𝟓   

Q 7) If 𝒚 = 𝒙𝟐𝒔𝒊𝒏 𝒙, 𝒕𝒉𝒆𝒏 
𝒅𝒚

𝒅𝒙
 𝒘𝒊𝒍𝒍 𝒃𝒆  

 A) 𝒙𝟐𝒄𝒐𝒔 𝒙 + 𝟐𝒙 𝒔𝒊𝒏 𝒙  B) 𝟐𝒙 𝒔𝒊𝒏 𝒙   
 C) 𝒙𝟐𝒄𝒐𝒔 𝒙  D) 𝟐𝒙 𝒄𝒐𝒔 𝒙    
Q 8) 𝒍𝒇 𝒚 = 𝒆𝒙. 𝒄𝒐𝒕 𝒙 𝒕𝒉𝒆𝒏 

𝒅𝒚

𝒅𝒙
 𝒘𝒊𝒍𝒍 𝒃𝒆   

 A) 𝒆𝒙. 𝒄𝒐𝒕 𝒙 − 𝒄𝒐𝒔𝒆𝒄𝟐𝒙   B) 𝒆𝒙. 𝒄𝒐𝒔𝒆𝒄𝟐𝒙    
 C) 𝒆𝒙[𝒄𝒐𝒕 𝒙 − 𝒄𝒐𝒔𝒆𝒄𝟐𝒙]   D) 𝒆𝒙𝒄𝒐𝒕 𝒙    

Q 9) 𝒍𝒇 𝒚 = 𝒙 𝒍𝒏 𝒙 𝒕𝒉𝒆𝒏 
𝒅𝒚

𝒅𝒙
 𝒘𝒊𝒍𝒍 𝒃𝒆   

 A) 𝒍𝒏 𝒙 + 𝒙  B) 𝟏 + 𝒍𝒏 𝒙  C) 𝒍𝒏 𝒙  D) 𝟏   
Q 10) 𝒇(𝒙) = 𝒔𝒊𝒏𝟐𝒙 − 𝒄𝒐𝒔𝟐𝒙, 𝒕𝒉𝒆𝒏 𝒕𝒉𝒆 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒇′ (

𝝅

𝟒
) 𝒊𝒔   

 (i) 𝟐  (ii) 𝟎  (iii) 𝟏  (iv) 𝒏𝒐𝒏𝒆 𝒐𝒇 𝒕𝒉𝒆𝒔𝒆     
Q 11) 𝒍𝒇 𝒚 =  𝒕𝒂𝒏 𝒙 𝒄𝒐𝒔𝟐𝒙, 𝒕𝒉𝒆𝒏 

𝒅𝒚

𝒅𝒙
 𝒘𝒊𝒍𝒍 𝒃𝒆 −   

 A) 𝟏 + 𝟐𝒔𝒊𝒏𝟐𝒙  B) 𝟏 − 𝟐𝒔𝒊𝒏𝟐𝒙  C) 𝟏  D) 𝟐𝒔𝒊𝒏𝟐𝒙   
Q 12) 𝒚 = 𝟒 + 𝟓𝒙 + 𝟕𝒙𝟑. Find 

𝒅𝒚

𝒅𝒙
  

Q 13) 𝒚 = 𝒙 + 𝒙𝟐 +
𝟏

𝒙
+

𝟏

𝒙𝟑 . Find 
𝒅𝒚

𝒅𝒙
  

Q 14) 𝒚 = 𝒙𝟐 +
𝟏

𝒙𝟐 . Find 
𝒅𝒚

𝒅𝒙
  

 


